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Essential Question

How can you derive a formula that can be used to write the solutions 
of any quadratic equation in standard form?

9.5:Solving Quadratic Equations using the 

"Quadratic Formula"

Exploration 1

The following steps show a method of solving  ax2 + bx + c = 0. 

Explain what was done in each step.

 ax2 + bx + c = 0 

4a2x2 + 4abx + 4ac = 0 

  4a2x2 + 4abx + 4ac + b2 = b2 

  4a2x2 + 4abx + b2 = b2 − 4ac 

    (2ax + b)2 = b2 − 4ac 

   2ax + b = ±   

    2ax = − b ±   

Quadratic Formula:     x = − b ± 
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Core Concept

Example 1

Solve 12x2 − 4x ­ 5 = 0 using the Quadratic Formula. State what a, b, and 
c you are using to show work. 

Example:
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Monitoring Progress 1­4

Solve the equation using the Quadratic Formula. Round your 
solutions to the  nearest tenth , if necessary.

1. x2 − 6x + 5 = 0  2.    x2 + x − 10 = 0

3. −3x2 + 2x + 7 = 0  4. 4x2 − 4x = − 1

YOUR TURN:

Example 2

The number y of Northern Rocky Mountain wolf breeding pairs  x years 
since 1990 can be modeled by the function y = 0.20x2 + 1.8x − 3. When 
were there about 35 breeding pairs?

REAL­WORLD APPLICATION:
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Core Concept

Example 3

a. Determine the number of real solutions of 2 x2 ­ 3x − 1 = 0.

b. Determine the number of real solutions of  x2 + 4 = x. 

Example:
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Monitoring Progress 7­9

Determine the number of real solutions of the equation.

7. −x2 + 4x − 4 = 0

8. 6x2 + 2x = − 1

9.    x2 = 7x − 1

YOUR TURN:

Example 4

Find the number of  x­intercepts of the graph of  y = 2x2 ­ 4x ­ 3.
EXAMPLE:
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Monitoring Progress 10­12

Find the number of  x­intercepts of the graph of the function.

10. y = − x2 + x − 6    11. y = x2 − x   12. f(x) = x2 + 12x + 36

YOUR TURN:

Core Concept
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Example 5

Solve the equation using any method. Explain your choice of method.

a. x2 − 4x ­ 7 = 0  

b. (x ­ 2)  = 64

c. 10x2 + 7x ­ 12 = 0

2

Practice:

HW Assignment 9.5

WS from the WB
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